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18141 100 ur tluruurruhpurt hh &hntrnqhhn UU onllo 700 35 50

19641000 q n1 [hp[1 thtut hb u] run\, urtph hrudup uu hrurn 300 60 200

2281 1 i 10 anof Lull uullurnurnn n b onurhqurlutnrurhhhn uu hrur,n 800 l6 2

24451141
ufuuruhurhfr2 hhrlm\ hlmptp d,hnphpf hrutftup

urhntr 0.5r
uu tJr-tt 2000 10 5

24451141 Ulurnurhurtrhl htn nlL tl nr-rahn rur L nurhnht 0. 5 t uu hrur,n 1200 24 20

24451141 urtuururhurhhl hhnntL hrnr-nhn &hnphnh huljurn LIU rhun 1500 75 50

24451141
urluuru,rhurtrfr2 htrlnr-\ irlnrphp ilu\bphnqpfr
huLturn

tru tJr-l 1500 30

30121460 r.nnhtnurthh purnunhg
=4 huiur 8000 80 10

30192100 nhurhh huruurnurL q2 huln 100 10 100

301921 1 1 Bruhrup, \hhph prund.hlh hruilun huln 500 A 8

30192121 qnhl qhqhLrurr,lnn q2 hrur.n 100 30 300

301 92125 rlurnLrhnhhn hruu 300 30 100

30192125 Uurnbhntrhn uhurilunurbhbnh rlnu qnhtnr hurr,n 300 30 r00

30192125 rirunl-r tnLrhn qnururulurntuLh hrurn 300 30 100

30 92130 rJurr.nhrnl-rtn hrur.n 100 10 100

30 92133 unhthtn huln 200 4.4 22

30 92r57 +nnrilruLtrhpbtn Lru hurur 3000 6 2

30 92210 Llnr hrlhnurrhh hhphurL r-u lmh druu rurl hh 1 q2 hurr,n 500 10

30r92220
qn$ritpurlfh irhphur\q2nr-h durqu:r{htr, 19rirlx36rl

lnuruhht urL urt hh, rhnpn
q2 huln 50 5 100

30 92230 uhnl' tnhlr nl rhuhh unub&rl urb =L huln 300 3 10

30 927r0 unuh&urlurnlrur, qpruuhhlur\ru1]ttt g2 huln 350 35 100

30 92920 nurnhr hhnnrLhtn q) hruur 2s0 8 32

30 95700 tnurrrrurlurrrruh trbnh rftupnrlurh r.u runurqru hruur 600 6 10

30 97712 h runhlh rlhunuqurr urnt hulu tn, rJhqhh s2 r,nnu}l 160 96 60

30 97120 Lrndqullhtn q2 trln+ 250 25 10

30 97220 BnBh uninruLhtn qZ urnr-rh 200 2 t0

30 97220 rdnrdh udnurLLhn rlhururntu: q2 rnnr-rh 750 6

30 97230 onnurdurhrub' $urrrtnnrl hrurn s00 10 20

30 97231 alBrur.lruhurh, runthrltnuthh BurnurhB, burt urntrh 1000 50 50

30 97234 aq puq urhu!, Lnzur burq rJntl huru 700 35 50



30197323 burnhr, 50-hq urilbrh phFph huniurp hruur 1000 50 50

30197621 brhqlrunurh pnulp huln 2000 66 33

30797622 ?nutp, ,A4 $npriruurb hruu 1850 296 160

30199420 anr.nro hznr-rJhhnh hrurlurn, unuhdrlurbpnr{ tnnr-rlr 250 t2.5 50

30199430 Bnrlp Lr2nr-rJhhplr hunlurp, rnpgur\hhp{ uinLlh 250 t2.5 50

3021 1200 'IrntnurL hn hrurfiu\ ruPqf 2
UU huln 415000 4t5 I

30216200 hnrthurL urhrucrlurh purpu \urp4tugnrl uu:pp uu hurur 6000 2

30234650 $r tr hhrnnnr,Btnr-h, 32GB LIU huln 6000 60 10

30237310 orunpnhqtrtp urq irlhhpfr hullurp UU huln 4000 40 10

3121 1 180 ullrnnilr.urn ruhgururfrlt-rhp uu hruut 1500 15 10

3i521210 Lunlq LED, 20 -{u uu hluu 1500 20 l3

3152r220 I-urftu LED, 10-12'lrn, 60 utl uu hruur 1800 25.2 t4

31521220 Lulirl LED, 18-20.{ur, 120 uri LIU hu-rur 2000 28

31685000 tun hnburnuqilurb uu huln 3200 13 4

33141129 qhrlu\ uu huln 50 25 500

3376i000 9nrgurpruttfr pnqP uu hurur 100 2 20

3376 400 fdnBh rutr&hnnqh\ uu hrurn 150 15 100

3492 440 nurhntrhtnh L urnrh rnrupuLhp h uq;ullurtrhhp uu hunn 3000 30 10

3922 r30 trtudurlr hlntplr 300ri1 6h uu huln 1950 195

3922 140 FurdurL unrpdh 3/100ri1 6h UU hrurn 6800 68

3922 140 FruduiL Bhrh 250rit 6h uu hurur 10200 r02

3922 260 Urlruh Dun. /.)/I6.)uu In uu huru 1650 99 6

3922 260 hhuh purn. rfrnnnr] 10/25url th uu huru 3150 3.15 1

3922 380 Qnur 6h UU huln 1450 145 I

3922 390 tuuru.rnrupurl 6h uu huln 3050 3.0s 1

3922 490 urunr.hqhhn uu hu-rtn 250 15 6

3924 120 'Iiuhruh rlhb ult qnr.hullnp qn2 6h uu hrurn I 850 085 I

3924t210 riL nurn, qnuruthturl.1 tuthh uu hurr,n 600 12 20

39263200
qpuruthl ur\urt }tl, ghnp, rhuurl ruh, 70- 200k2,

nnqurbh, uqfrurur\ L2hpn{
uu hunn 750 75 10

39292510 lpruhnh, rlturuuih\ uu huln 250 1 1.25 45

39522330 | rirupnnn \urnPtrhP UU hunn 300 12 40

39831000 bnLnq rnhnhuulturh UU hr,urn 200 t1 60

39831 100 r.l ruqnr Utnrphp rur.lruthhpfr uu huln 500 8 16

39831240 r,Iupnnn htntBhn drurlht tIU I tt'tnp 120 12 100

39831240 | rftupn.tq hlmphp ruulul\nt uu huln 6s0 65 l0

g98312+O | il*pnttn htntBhp !uhntlpfr, urtnnqnlptrhulp\ll uu nulln 1000 10 10

39831246 odurn htlnth uu rb\Ilt 4s0 10

39831262 hhlnr-b odurnlr pru2|uf2 uutPP uu huln 6000 48 8

39836000 iltt, unrlnnur\urh Lru hruur 1500 15 10

39839i00 qnqu-IrdhruU, urqpp hur{ruphpt hulfurp, a"U'l uu hrurn 2500 75 3

39839300 ahruh d,tnr-h rlurppblnr hunftup uu hurr,n 4000 12 3

42991 100 Huo riurnurnruh rul-r uurPPtP uu hulur 39000 39 I

44161230 tunnnrl urbtrhplr qiuPuqurhtP uu huln 3000 60 20

44411110 enh bnnulL, i rlurllu-rbnr] uu huln 2500 50 20

44471500 rhurLruh' qhnur&L uu hunn 3000 30 l0

44411740 qnr-qrupurhur\nlrP UU hurur 35000 140 4

44411741 r nr-gr.unurhurll nhplr 1 
nq rul: uu hruu 2000 20 10

44417742 r nr-qrunruhurltnl.rph rlhlurutrhqrl uu huru 3000 30 10

44423400 rntoruhur\trhp h hrupur\frg tunrup\ruhhp 1 uu hrurn 2500 100 40

44423400 qmquhurhhbn h hurpur\frg urnrul\urhhp 2 tru hrurn 25000 50 2

f,uGu3nhr€nhLLbI.

48441300
hru2 urhur\urhhullur\rupq2urlfLrbpruqprulfrlt
rhruBhBhbn /2Ol

uu llnud s60000 s60 I



5031 1 120
hullur\urpqyurlfrh uurpptpfr u1u:hqurhrfuub h

Ll hnr.uhnnnqriuh brunrulmplnthLrhp
uu r1ptuil 200000 200 1

5031 1 120
hrurlu\rupq2ur1|rh uurpphpfr qurhulutllurh ir

lhnurhnnnqrlurh burnurlntplnthhhp
LIU rlluril 300000 300 I

5071 1 100
urqrlurh2urhurl|l-r huniur\urpqb qhpulmpnqriurh

burnurtntratmhhtn
uu lluril 300000 300 I

5071 1 100

2hhphpnr-ri urhlur\urlrlurb h1h\upur\tuh uurppLplt

r{hpruhnpnqrlurh l-r ulurhu4uhrlurb

brunul mp1 nthl,rhp (o4npur\|r2trhJr/uuntrurpruLLhp,

onrurhnluh>Lrhp h ulft)

UU rlpurd 250000 250

55521300 uhbnh runurprftuh br.unurlnr.plnttrhhp uu trrnLlh 3500 140 40

6421 1 100 hruhnurthh hbnruiunuurthh burnurlnr-p1nr-hhhp uu 4nuril 200000 200 I

64211130 noqruthh htnurtunuhtnlr burnr'ulntplntLrhhp uu nnuLJ 300000 300 I

651 10000 furitrnr pnh pruztunril LIU r.rrruTIh 200000 200 I

6521 1 100 qurqh purztunlil uu d3 140 4000 28571.4

6s31 i 100 h tirurnruL utrnrBlurl-r pru2lunr.rl uu qq/d 48 5000.02 t04167

661 1 1200 nruhh rut hh burnu:1 nr-pl nthhtp uu ulunh 200000 200 1

72211124

gurhgurlirh, hrurftugruhgurlfrb b hbppltt

br.ururlnlur\url, \*tph frl,rupurtrhuf )

hturfu\urpq2ru1 frh bpurqpurlf h rlruptpLhplt
rJruLrJurLr brunulnr,plntl-rhtp

t-ru rlnurd 600000 600

72400000 hrurJurqurtrqruthh brunurl ntplnrhtrtp uu nnrurl 300000 300 1

72411500
hudrugurhgurlirh L2hpir hnupfLqft

bulnurlntplnr-hhtp
UU qFull 150000 150 I

72411700 nnribhrut hh ubrl urhnrrlhtP LIU nnruri r2000 T2 1

76131 100
qruquruqurnrftuh hullur\urpqfr urtiubf \ut\utlt
uruurururrllrlurh burnrulnr-plnrhhtp

uu rnruFtr 125000 r25 1

76131 100 qurquuurnh ur4uruu:p\ nril uu rnurDh 70000 70 1

76131 100 hurburhnnhhruthtr urhrlurtutrqnrplnr-h uu urulDh 30000 30

79211150 -lnrnhurnnnh urh burnrul nrpl nrhhhp UU nnrurl | 900000 900

79810000 uluurgpur! urh Erunurlntplnr'trbhp pnt\1hr.n LIU hiuur 150 75 500

80521200
nLgt 10, urnurp\ur3fr rlhpurqrurnpuruunhuh

bunurtnr-ratnthhhp
hruur 84000 84 1

80521200
uCurlurluln 2, runurp\ru1fr tlhpurqulnpruuurlurh

burnulnrplnrhl-rhp
hruur 168000 i68 1

80521200 "Stluhnlnqfrur 2, urnrup\ui1fr r{tpuruluurpurunrfu-rh

burnurtmBtnrl-rhtn
q2 hurtn 210000 210 I

^^-- F&Ft tl"qf*u 5, urnurp\urlir rlhpurqruurpr'uur'ntiurh
6U)ZTZUV l.- 

lburnurlnr-Btnr-trhtn

q2 hurur 210000 210 1

80521200 " 
$|rq\mlnmpur 2, urnuP\ur1 fr

rl hnuruururnururmftutr brunurlnrplnthhtp
hunn 168000 r68 I

l"Sfrq\ntltrintptu 5, 7, 10" unurnqullh
80521200 lrltn***-n*uurfurh brunrulntpynr-bhhp

hruur 210000 210

80521 200
,Uhqlbphh 5> urnurp\ur1f {tpurululnpuruurlurh
JurnurtnrralnrhhhD

q2 hurur 126000 126 1

80521200
,bu h fnl hurlpttrfpp 5, runrup\ur1|r

Ll hnulrlunnpuruurr,lurh brunurlnr-plntLl-rhp
hunn 168000 r68 1

| "Zrurfur2luurlhurlfh qulmintplnth T, 10'

80521200 lurnrup\ur1|r rlhpurqrurnpururnr'Iurh

lbunurtmBtnr.hhhn

nt hruur 210000 210 I

80521200
flmuhpttr 5' runul\urlfr {hpiuqurtnpu-rurnrfurh
urnrutnl|alnlhhtp

hurr.n 168000 168

90511100 lurnpruhurhntplnth uu urunh 300000 300

S23 I 1 t SO | "Un,lhrr- 7" hlntphpfr pqpurqurhur\f rf2ur\mrl huln 250000 250 1

9131 1 180 I Unr.ltuur 10u trlntpLplr prlpurqurh'r\h rlZur\nul huru 250000 250 1



,,bpurd2urn.plntll 2u Llntphpfr pqpurqurhur\ft hurn 250000 250 1

9231 1 180

hruur 250000 250 I
9231 1 180 "bpurd2rnnr-p1nth 

5o hlnr-PLpfr prpruqultu\}
dru:Lnrrl

q2 huln 2s0000 250
92311180

bpurd2urntplnth T, hlnr-ptpfr pqpurquhu[ft

huln 250000 2s0 1

9231 1 180
,,bpurd2urnrp1nr.h 10, trlntpbplr pqpruqurhut[ft

rlzurllnr.rJ

hul,n 250000 250 I
92311180 "ghpqupr{turn 2, trlnr-pLpfr prpurquLur\ft

huln 250000 250
9231 1 180

,.rrhpqrupr{turn 5o hlntptpfr prptuqurhur\ft

rbuLnr-il

hurut 250000 250 1

9231 1 180 "ghpqurprlhuur 7, trlntptpfr ldqpuruluLtuqft
dzrubmrl

hu-nn 2s0000 2)U I
9231 1 180

Vhpqurpr{tuur 10o trlnr.phpfr pqpruqruhur\ft

hruut 250000 250 1

9231 I 180 ( tJy'rl I U> ulnlpull ldt[duHg:::1:-:jg:
hrurn 2s0000 250 1

9231 1 i80 . Cru tu rft uur 2' h1 nrp Lp fr P {Id tuulltlltlft-g 2 u!nl!- 9Z

9231 1 180
SUlubnpqltur 2, hlnr-ptpfr pqpurqurhur\ft hruur 250000 250

huln 250000 250 I
9231 1 180

,Shiullnlnqlrru 5, trlntptpfr pqpruuluLut\it

CZ I hurn 2s0000 250 1: ^^ l.$|rq\nrpnnrpru 2" t'rlntptplr pqpuquuutQft
92311180 l-':':

lu2tu tlntu

92 | hruut 250000 250
9231 I 180

$|rq\nr-yrntpru 5, I'rlntphp| pqpurquhu:\ft

hurut 2s0000 250 I
9231 1 i80 "5frq\myrntpru 7' hlnr-phpfr PlpurquUurqlt

dzurllnul
q2 huut 2s0000 250 1

9231 1 1 80
Sfrq\ntlnnr-pru 10, hlnr.phpfr plputuluhu[fi

hrurn 350000 3s0 I
9231 1 180

hu,rrn 3s0000 350 I
9231 i 180

gpur\ruhntplnth T' hlntptplr pqpurqul-tutqp

hrurn 3s0000 350 I
9231 1 180

nQpur\url,rnr-p1ntL 10o trlntpLplr pqpuuluhut[ft

riluhntl
hurn 350000 350 1

9231 1 180
bu h inl hrulphhlrpp 5' hlntptpfr pqpurqulrru$t

huln 3s0000 350
9231 1 180

,,2.uniur2]uurphurlfrL qulr-nrintplnth To trlmpLplt

- -------....t,...1,L' r^"'l'-" 1

Y4 hrurn 350000 350 I
9231 1 180 "Zul.fru2luruPhurlfrtr 

qururdntplnth l0o UInLFhPI)

---,.,,,.,,'t""1'1"'f nrrrlrnr r I

huru 350000 350 I
9231 i 180 2urlng ybqnt 7o hlnr-ptpfr pqpruqurhru\ir ri2ur\ntti

Y4 huln 350000 350
9231 1 180

n|rulng thqnt 10, trlntphpfr pqpurqulttu[ft

hunn 350000 3s0 1

9231 1 180
n Zulng qruunintpl nr-h 7 " hlnrptpfr prpurulurLu {fi
ilrur'Lrnul

hr,uut 350000 350 I
9231 1 180

n2ur]ng qruunlnr-plnr[ 10" hlmphp]r

---,,,,,,,",i'irrl'h .fnrrr'lrnt t I

hul,n 350000 350 1

9231 1 180
nZuruurFru\urqlrurntplnth T' trlnr'phpfr

---....,...,1,,,,1'L.' f ^"'l'nr r I

q2 hrurn 350000 350 1

9231 1 180

9231 1 180

n2uruurlur\ugfrurntplnth l0' hlntpbplt

^-o",*.',hrrrlrh rf orrritnt d
1, o-or r rrrrrrrlrrrrlrh rf ourLntil hrurn 350000 350 1

huln 350000 5fu I
9231 1 180 Uurnhtrh 5" trlnrphpir fryduqu+ulF tj2urqntu



/
,,n*"tnttt 5, hlntptpfr Pryl4quLuifh il2urUnt{ hruur 350000 350 1

I
92311180

9231 1 180 $purhuhpth 5" hlnr-phpfr pqpurqrutnu!]r rl2ur\nuJ nt hrurn 350000 3s0

uu rnurplr s00000 500 I
9241 I 100 ahnphphh purdruhnp4urgp{ur! ltulurlnlPlnlUtrEft

98341 140 ,,|,, l,,rlr hrrrnttrrnt nrnr trhh uu rrrurnh 3420000 3420 1

32487.2
ChrluilhLp

fr urqqurlirLr \ttlnnntu hlrill'rurlPurd

ntuntgr.turh (U9Ot') FurlrhrhnlunulhtF

ruhurqfnnur\urh tilpntplurh lt

QhiJurh urnrup\ur1fr
Qhrlurtr

dht
< u.t^1.

rlfru{npp
Ufu{npit

CItt'E

Qmrftup

p (hrut.

llurti)

Purhru\p
rlir2tuLgb\

bub\urqfpp'
puur QUU

qruuur\urpqriu
L

urhr{uhntrlp

n

uu huut 500 )fu 1 100

1100
22811150 lrnBrurnhurlhp Uq nl'g@

30192i21 ilthf gt4bqurqnp' Urr0t'9U9-fr tnurpphptutr2urLrn{ hruut 500 s50

30192121 +nhl qtr4tr\urqnl
q2 hunn t00 3 30

30 92t25 UrupLhnhhp
hrurn 250 20 80

301921 25 1,,,,,1',,nrrrlrlrhnh rlnut onttnr hruut 350 35 10

f4 hurur 350 7 20
30192710 unuh&unluLnf rn, qpuruhblur\u$tr

30t92920 nr-nnhl htnnr.\htn
qZ hruur 250 3.75 t5

30 971rt .rurnhrh rlhurur4urlurph \ruqhp' {npp lnnr-rf 90 135 15

30 97r12 trurnhlh rltururqurprph \rurqhl, ilhZbtt rnnLtr t70 2.55 15

30197220 ranBh ullnrullhLP urnr-rh 200 6 30

30 97230 Oryaur q ruhurf UIr Ot'9U I -tr tnurFFbnrutr2ulm{ hurur 600 660 1 100

30197230 BnBruutr.uhtuLl' $tu11 tPn{ huln 500 10 20

30 97231 onnruruurbur\, r{n1tlilhpulith purqurLp' SutL hrurn 950 28.5 30

30 97234 | pnpurqruhur\, \"2* \uqriml hrurn | 900 27 30

1L \q 1000 100 100
30 97621 | bthrllunurh Pnulp
30197622 A4 $npriulnh urnuh 1800 270 150

30 1 r,4,0 Tprt"l p h2nr-rltrhpfr h*,j*p.]ttgttd'l*bpt'{ trtnl-tr | 250 3.75 15

30199430 Bnr.lp h2nr-rJhtpfr, upgru\hhp{ qZ I rnnr-rlr 900 13.s 15

UU huln | 120 3 25
30234300 nulnurp\ u\uLlurnur\, u'rnurhg E!$br-!P
30234400 unL uLrur.lu-rnur\, urnuLg n-.+h, lyP uu hurur 100 25 25

302346s0 $1 h2 hlr2nqnr-p1mh, 32GB uu huu 3500 56 16

30237310 pphgbhn tnqflLhPf hrurlurF LIU hurur 4000 40 i0

391 1 1 190 Fruq\upnn uu nnull 80000 BO 1

ouGuSnr.r€oi..LLbf

5031 1 120
hurlur\rupq2rulftr urupptpf qruhqurhrfiuh ir

rlhnurhnnnqilurb burnurlntplnthhhp
uu ryrull 200000 200 i

79551300
hpurnurpu:\2ntppuh burnrulnr-p1 nr'hhhp

lpruil 3195000 3195

rlluril 1050000 1050
79551300 hpulriurpur\2mplurh burnurlntplnrhhtp ulluurqrtp

79810000 ulu urqnurll uh burnurlnr.p.;nr-htrhJr' r{\urlur\urLhbl uu nnuril 250 275 1 100



79810000 uqurqnullruh burnurlnrBlnthhhn rlururturtrhhn uu nnrurl 100 12 r20

80521200
bphuhf qturru\urL rnblubnpqfrur\urh pnlt2nul
urhqhutqilnn dtnunuulnnuruurnui *** hruur s4000 54 1

80521200

bpburLlr U. trurpur2uhlublr ruh{ruh qttnur\rul:
hpurd2urulftuL\u{updur\urh pnlb2nrrl
urLqhurqilnrl r] tDrur:lunnnururnnr-rf **'

hruur s4000 54 I

80521200

bptrutrlr N 6 uphhurnuqnpbur\rutr qhurur\urh
nruntrlhurpurhnul urhg\ru gr{nr1

tl hpunl ururpururnnrr.l "'
huln s4000

80521200

bpbuhf qFnuu2lr2nlfdlruh, uqururup\rluh l:
uhtrlfr ulp4lnrburptpnrp3ruh, hurl -hnr-trur\tul:
qhurur\urb pnlh2nr-rl ruLg\rugrlnrl
rltpurqulnpuruurnul'*'

hruur 54000 54

80521200
2UU2 pnlh2nr-rl ruhg\urg{nr1 {bpurqunnpuruurnril hrurn 54000

80521200
Upilu{fpf qtuur\rutr pd2\ur\tuh pnlh2nui
urhcUu-rorl nq t] tpurrqurupruuurnril **t hurur 163s00 163.5

80521200
Upilu{fpf urpr{burnfr qhrnru\ruh pnlb2nul
urLg\ug{n4 r.ltpruqunnpruutnnrd *** huln 163500 163.s 1

80521200
h2dfubLf .{. Zuriluquruul;urtrb ruhrlurh qtnu\urh
pnlh2nrrl ubg\ug{nr1 {hpruqunnpruurnnnl 

*** hrurn 163500 163.5

8052 1 200
Uprupurufr ururpubur2p2urtlulfrtr qhmurlul:
pn1hgnul ruhg\urodn4 r.ltprurqur.npururnntil t*t qz hurtn 163500 163,5

80521200
Upn{ubf pruqrftuqnpburnnrpul}rh qturur\uh
pn1 h9nr-rl uhqLurqr.lnn rltnurulurtnnruuurnuJ *" q2 hrurn 163s00 r63.5 1

80521200
9ninrulpfr rnurprubur2p2urhulfrtr qhrnur\urh
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